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1. GOHGU! HIoTd [Tdge/h IFIATAT JaEAd- Blhd¥d ATaR ool SITdTd?
CIREERINRELRED

CRERIERELCEEN)

COERELCEED

T 3N

(1) ®h & (2) Bth ¥,
(3) IRIHURT T (4) HThH T, F

Which of the following bill/bills is/are introduced in the Loksabha with the prior consent
of the President?

(a) Appropriation bill

(b) Finance bill (I)

(c) Money bill

Answer Options :

(1) Only c (2) Only b, ¢

(3) All of the above (4) Only a, ¢

2. Ui U foerE =
(30) ST URFRAAHE GATiT Fae F T HR01, 27 At ot iR
TR
@) TATIHAT RIS e U MU 30+ T o1 feer ST,
@) IR [Tcg" TR ERAIC AT GAWTI 9019 HAT doial dr=iadie 9 3™ The 38,
IO A=A stresE.
(1) Fth & (2) Bh &
(3) Wth 3T 4) 99 [T sRIeR 3R,

Consider the following statements.

(a) In an exceptional case, it is President's total personal discretion to select and appoint
the Prime Minister.

(b) Prime Minister receives salary and allowances given to the Member of Parliament.

(c) Sir William Vernor Hurcort called the Prime Minister as "A moon among the lesser
stars.”

Find the incorrect statement/s.

(1) Only c (2) Only b

(3) Only a (4) All statements are correct
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3. WSIAUDT HIOTd/AT [/~ SRIeR 3Me/a?
(1) TRHes Taed S Seayds fJas gid.
(2) BIETHAT [T Afvges afsa 2.
(3)
(4) TR ATET
Which of the following statement/s is/are correct?
(1) Dissolution of the Council of Ministers leads to the dissolution of the House of People.
(2) Dissolution of the House of People leads to the dissolution of the Council of Ministers.
(3) Both of these
(4) None of these

4. UATYHTSTET WIAGUAD! HITd [/~ aT 3e/d?
(37) GAWITI=IT SHIAhles & UTT I9=T 3=l

i ot e o NS o N

T FagT T &

(@) GATIT § TRISAT Shal THPIE Ad 3TTed.

EEIRIIE RS

(1) ®h & (2) T<h 3T IMMOT §

(3) th & 31T & (4) TIAHYUST Tehal ATal

Which of the following statement/s is/are correct regarding the Prime Minister?

(a) Prime Minister has a term of 5 years.

(b) Prime Minister must be an elected member from either House of Parliament, or shall
become so within six months.

(c) Prime minister is the leader of both the Houses of Parliament.

Answer options:

(1) Only b (2) Only a and b

(3) Only b and ¢ (4) None of the above

5. Y 99Ty [ger

(37) AEs AHRHRAT ATLAHT TAEER 3.

@) TAVUTT TS HEHEaMT e ST SIhTHT JS=T<AT 15 <85 gl

@) & AR 91 AT GG FANIE FROATT AT,

(1) 99 Tng (2) ®h 3, ¥ TRT

(3) Th 3, & INT (4) T & T

Choose correct option.

(a) Council of ministers is collectively responsible to parliament.

(b) Total number of ministers, excluding PM, shall not exceed 15% of total strength of

loksabha.

(¢) This condition was added by 915! amendment.

(1) All are correct (2) only a, b correct
(3) only a, c correct (4) only ¢ correct
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6. UATIHAT JFAhITAT U FRAMT THHHYGS IR 3RF HIVT Shos?

(1) X 99 gRale (2) 99T T

(3) TS e (4) ATTE Svsl
Who described Prime Minister as 'First among equals'?

(1) Sir Willam Harcourt (2) Thomas Munro
(3) Lord Morley (4) Ivor Jennings

7. TEEl [SUgEREd d9esr aurRmdle Aave R FROIIS! J[STgeH=AT  hIvTaT
FAAR ATl TYtH o SrAauard Id?
(1) shedH 109 (2) hHH 108
(3) ¥ 110 (4) ¥ 111

To resolve the deadlock between two houses of Parliament, a Joint sitting of Parliament is
called by which article?

(1) Article 109 (2) Article 108

(3) Article 110 (4) Article 111

8. Ui [au o= =im.
(37) THR[E =T AT ISTHT 3T AISAT Sl AareAl dATgdl I 3T I,
@) FORIY 98T 91 9T 1977 T HHIAT IS ST UTH STHT 3Te.
@) TS AT USTET 3T IR Hrdegal HaHTe Teesd!.

I /A T,
) FhH AT H Q Fh ATT
(3) Bh & 4) Fh &

Consider the following statements.

(a) The office of Leader of the House is mentioned in the Rules of House of the respective
Parliament house.

(b) The Leader of the opposition got the statutory status of Parliament in 1977.

(c) The office of the whip is mentioned in the Rules of Loksabha.

Find Correct Statement/s.

(1) Only a and ¢ (2) Only a and b

(3) Only c (4) Only b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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9. Ui U™ fo=Ra =
(37) FRATS AEHTEETE! FHT T8 AT Wt I9 [HENiIaR av el TH[EreT
HIADSITA T UG Johie & T Gor=T ST e TR Afgvarar ATIaRr e,
@) AT FgHT HAH 76 AT hosl ST,

T 3N
(1) Bth 37 TR (2) Bh § SRIET
(3) F=T R 4) TR IH

Consider the following statements.

(a) Attorney general of India enjoys all the privileges that are available to the member of
parliament and he has right to take part and to speak in the proceedings of both houses
of Parliament or their joint sitting.

(b) He is appointed according to the article 76 of Indian constitution.

Answer Options :

(1) Only a is correct (2) Only b is correct

(3) Both are correct (4) Both are incorrect

10. Yere foue foemra e sufor g uair e
(37) AT AT TATTITT HeaTal AHIT TG AT AT ST AT &l
HTEITAT HISTTUId TEET IASThid JelTs IS 93hel TeTa=T<aT hRuTas 3q1S 3%
2Tehdl HATal.
(@) TEATARTAT HROMERA TS SXAUITET ATUHRR & FaTed Jer=AT STHAAET 3R,
LRIRIIES RS
(1) %h A RIS HEENER
(3) Tl SRISX (4) <21 <Ih

Consider the following statements and choose the correct option.

(a) A nominated member of Parliament or state legislature can join any political party
within six months of taking his seat in the house without inviting his disqualification.

(b) The presiding officer of the house has authority regarding the matters of disqualification
on the ground of defection.

Answer Options :

(1) Only a correct (2) Only b correct

(3) Both are correct (4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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11. SIS AU eI & oy ag gy e,
(37) BIHTAT LIS qT IUTHIIS Neh TTART BIBAHAT YA TSkl Hioirar
ThSTUT 18T B3 ZTehal.
() BB LTI qT JUTHET FTARIA A A BIBAHTAT TG TeTdehl  hiofiar
UehoTOT J[ETAT TAFTIST 3R] 3hdT.
(1) ®7h 37 SRR (2) ®Th § TR
(3) SRl RIS (4) LT I

Consider the following statements and choose the correct option.

(a) If the office of Speaker or Deputy speaker of Loksabha falls vacant, one of the members
of the panel of chairpersons can assume such office.

(b) If the office of Speaker or Deputy speaker of Loksabha is absent, one of the members
of the panel of chairpersons can assume such office.

Answer Options :

(1) Only a correct (2) Only b correct

(3) Both are correct (4) Both are incorrect

12. Wole U F8d =1 anfor 7y g3y Hasr
(3N 84 I TeAgEwdr AUMIH 2001 FTAR AAIG AAGRATTAT HA@ 1991 =T

STRTUAR AT 0T JANT 956 Heoardl ATUHR IRGRGT 99T Ao 3Ted.

@) 89 IT TTAT T ATUMTT 2003 FFAR AaeREd = IRAHT 1991 USSi 2001 =T
SR RO dE hRoaTd oo e,

T 3TN

(1) 3T T, F 3 (2) 3 37FNT, T A

(3) FIET A (4) I srE

Consider the following statements and choose the correct option.

(a) The 84th Constitutional Amendment Act 2001 empowered the government to reorganize
and make suitable changes in the constituency areas of the state as per the 1991 census.
(b) According to the 89th Constitution Amendment Act 2003, provision has been made to
delimit the constituencies as per the 2001 census instead of 1991.

Alternative Answers:

(1) a is correct, b is incorrect (2) a is incorrect, b is correct

(3) Both are correct (4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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13, IsF9H= FaeudaEd Wit o fae ghe oR 2
(37) ST TN IH Hhove) IHIAR & [T R 10 AT ohal IRETdS
T TEATTSTAT 10% ST AT hed diigsid.
@) eHaeTs MagT ST e Ahiie ISl IRd HIGTTdRITe! e Mgl

@) MU AT AASH Tegdld dde S,

EEIRIIELESE

(1) b 37 ) 3ranfor ¥

(3) 31 nfor & (4) TSI THer el

Which of the following statement/s is/are Incorrect regarding election to Rajya Sabha ?

(a) Candidates fielded by political parties have to be proposed by at least 10 members of
the Assembly or 10% of the party’s strength in the House.

(b) A member elected in a bye-election remains a member for the remainder of the term
of the previous member.

(c) Election is held by open ballot system.

Answer Options :

(1) Only a (2) aand b

(3) a and c (4) None of the above

14.  ETSGUS AT [T 3.
(3N FIHIAAT I TR Teh JAsTTHT THHRIT RIS 3-AdTd.
@) ISTTHER IS AT AT T T TS AH0ITT GeTdh dide e,
@) TR F9=IEAT el J5 I9919 e Isq9e9 ShivTdal SUT ATar.
(®) TSRS IS IFYAT 0T IURTEIAT 3TN el MRl Adar $es hdTd.
T 3
(1) 37 3TOT (2) & STMOT S
(3) Fh & (4) FTh A, F
Identify the correct statements from the following.

(a) Only the Rajya Sabha has nominated members and not the Lok Sabha.

(b) There is a constitutional provision to appoint two members of the Anglo-Indian tribe
to the Rajya Sabha.

(c) There is no restriction in the Constitution as to the number of nominated members to
be made Union Ministers.

(d) Nominated members may vote both in the election of President and Vice-President.
Alternative Answers:

(1) aand b (2) cand d

(3) b only (4) a and ¢

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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15. HEHes ATAIGIATAT FedTd TolGuh! hivTd U JT 3Md ?
(31) T 1950 T YT HI0ATd 3.
@) d AT AR HTETST SHIF .

(@) o 9T HYeT R,

@) T e IRERTH T AH-G9F I A D,

qIET 3N

(1) 31 3nfor 9 (2) 31, & 37OT &
(3) § AMOT © (4) 31, & AT §

Which of the following statements regarding Cabinet Secretariat is true?
(a) It was established in 1950.

(b) It works under the direction of the Prime Minister.

(c) It is a line association.

(d) It acts as the chief coordinator in the Central Government.
Alternative answers :

(1) aand b (2) a, b and c

(3) b and d (4) a, cand d

16. WRAR JsT9eH=AT 10 AT AT STATd ASTITAT =T o Shior gar 2

(37) TSTTHT FHTIAT @) BIhaHer reTey

@) TRATE AFIAT OREERIEIZE

T 39N

(1) ®h & 2){, T, &

(3) 3, 4 3, d,h, S

Who decides the disqualification of a member under the 10th Schedule of Indian constitution?
(a) Speaker of Rajyasabha (b) Chairman of Loksabha
(c) President of India (d) Supreme Court
Answer Options :

(1) Only c (2) a, b, ¢

(3) a, b 4 a, b, c, d

17. BIBTHd ATl SMOT IUATIAT el FuRId  TAART SIS TYth  Johl<A]
ST VT ST ?
(1) ST 3reeT (2) ISTHET IuTHET
(3) AETAT A FAhST T (4) TIFTE =T
Who chairs the joint sitting of the parliament if both the speaker and deputy speaker of
the lok sabha are absent ?
(1) Chairman of Rajya sabha (2) Vice chairman of Rajya sabha
(3) Member nominated by president (4) Leader of House

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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18. WIoe [ad™ [S=RId =T Sf1foT b e e,
(1) IR F9e 2 fofesr SHey™ToT e ey |y 3e.
(2) YRT & UsTTadish ST 3778,
(3) ST AR HIVTATE! IsTge-d BHRaRT TRERAT 3% e,
(4) FRA TGS UhITds dHT Wdsl rIIaed] W oyl 378,

Consider the following statements and choose the incorrect statement.

(1) Indian parliament is a sovereign body like the British parliament.
(2) India is a republic state.
(3) Three tier government is not mentioned in any other constitution in the world.

(4) The Indian constitution establishes an integrated as well as independent judicial system.

19. WAUS! STy [Ty afesr Fivr smed?
(37 TS ATER HI9T.
@) ATTIRT BT HST H.
@) TPIATEIR TEIMHART IS0
(©) ATONSTONRT A= 2T,
1) A, 2) A,
3) 9, b 4) &,
Which of the following are exclusive powers of the Lok Sabha?

(a) To introduce Money bill.

(b) To pass the motion of no-confidence.

(c) To impeach the President.

(d) To ratify the declaration of emergency.

(1) a, (2) a, b
(3) b, c 4) c,d

20.  WISIAUD! HIUTAT TR HHdIS (93T TEHAT THEIT hesl ST 2ehel AT ATHTST
TSATAT HRATIET ST [T =l Sl STaeah 38 ?
(1) T I MEar (2) FEATGSEIE! TishaT
(3) &Y ATISR (4) AAIRAG AR
Which of the following provisions can be amended by special majority of parliament and
requires the consent of half of the state legislatures ?
(1) Formation of new states (2) procedure of constitutional amendment

(3) Fundamental Rights (4) Delimitation of Constituencies

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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21, Eole [Tum =R =,
(3T) SHIEH, Hichersl a1 IsTend ST fSfesr e wgdia 9o dauar 2ma 3™
Heh IR,
@) AT AT FHT 3T TegdldT i MFTVOTS! 3TF FoTdTd.
@) foed, STUH, el YR, SiodT a7 2T S9e T 3MaT9gdT e,
A T e
(1) 31, § TR (2) 3T, ® TR
(3) ¥, & TR (4) ¥ R

Consider the following statements.

(a) Political analysts Crossman, Mackitosh have described the British system of government
as 'Prime Ministerial Government.'

(b) Ivor Jenings called the parliamentary system of government ‘cabinet form of government'.
(c) Britain, Japan, Canada, India, Sri Lanka have parliamentary system of government.
Select the correct option.

(1) a, b correct (2) a, ¢ correct

(3) b, ¢ correct (4) All correct

22. TSI I FaST Y WIS ShivTd ?

(37) AR A&HR @) TROT AT .

() AT GHARE BEICEIEIRECIEEIIRERR

A g .

(1) 3, ¥ SRR ) F, ¥, T WE

(3) 7, § AT O ER-RERS

Which of the following are the demerits of parliamentary system of government?

(a) Unstable government (b) No consistency of Policy.

(c) Dictatorship of the President (d) Opposition to separation of powers

Select the correct option.
(1) a, b correct (2) a, b, d correct

(3) a, d correct (4) All correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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23. T [ANGiaR HEE HIUATAT AT ATURRIEESD TSie U= =R o=
(37) TSI ATUROT TEHAT BT ITIRA hedTd.
CORERENIEEaI e
@) TTHNS FRRTETY.
(©) JFIAT JASTIC TG,
AT T e
(1) 9, &, T |WE 2) &, T R
(3) 9, &, h IR (4) T TR

Consider the following statements about the power of Parliament to legislate on state

matters.

(a) If a resolution is passed by simple majority of the Rajya Sabha.
(b) During national emergency.

(c) By agreement between States.

(d) During President's Rule.

Select the correct option.

(1) b, ¢, d correct (2) ¢, d correct

(3) a, b, ¢ correct (4) All are correct

24. YATRIR UAMTYS qUSiags Eole [aae SuRTd =,
(37) B YIS AeqaeTish [SaRyareg anfor Rad«st e Ii=r weAeT <.
@) B TS UeT Usgdiel Hewd arefad 3o AdeRia A HHl Hd.
TR g e
OEERER 2) T W
(3) 3, T W= 4) 3, § I

Consider the following statements about proportional representation system.

(a) This system encourages minority thinking and group interest.

(b) This system increases the significance of party system and decreases that of voter.
Select the correct option.

(1) b correct (2) a correct

(3) a, b correct (4) a, b incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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25. e uT/A M.
(37) FTaSTS [T9Th TS AREBRT TLITdIe hivdTel WEeRM Aledd [99ds 2.
@) TSI [T TeR HXoarsTdl Ad G =T A6l SeTd.
) ERPT [T99% AER FROGTAT Teh AleAT Gag=-T A6l SPT.
(1) h 3 2) %t &
(3) Th & (4) I9 TIST.

Choose incorrect statement/s.

(a) Public bill is bill which is introduced by MP From governing party,
(b) Public bill introduction in house requires 7 days prior notice.

(c) Before introduction of private bill, one month prior notice is required.
(1) only a 2) only b

(3) only c (4) all correct.

26. WS UM =R .
(37) SR TETET Fthl AT gl AIFRMET e B MagT el 96 aR AT &b
15 TIAT=AT ST AT HIVTAT TAFEI il IR I8, § Jrod R0l IRelo 38; =T
T ATl ST <6 8.
@) SR TETE SRR THNETAT S SIPNER Fag Mol d= T SthiA Tl STPrE! (Hag &R0
RS 3T STAYT AT AhHISAT el ST R<h Bl

TR faae/faae e
OEERER (2) 31, § W
OEERER 4) A, 9 I

Consider the following statements.

(a) If a person is elected to both the Houses of Parliament, he must intimate within 15.
days in which house he desires to serve. In default of such intimation his seat in the Rajya
Sabha becomes vacant.

(b) If a person is elected to two seats in a House, he should exercise his option for one;
otherwise both seats become vacant.

Identify the correct statement/s.

(1) b correct (2) a, b correct

(3) a correct (4) a, b incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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27. JIHIIHAT FARBEES Wl U= [S=RIT =i

(37) BIHTHEAT HIURIS 42 AT FSATGHE Tal I IAH JTSTIST Bl

@) 44 ST FEAGHHA ar GoaT I a9 Ha.

IR g Maer.
NN (2) 3 TR
(3) 7, T TR 4) 3, T I

Consider the following statements about the tenure of the Lok Sabha.

(@) The tenure of the Lok Sabha was extended to six years by the 42" Constitutional
Amendment.

(b) The tenure was again made five years by the 44" Constitutional Amendment.

Select the correct option.

(1) b correct (2) a correct

(3) a, b correct (4) a, b incorrect

28. UV OH ITETNIT Y WISIHUhl HioTdT 3Ted ?
(37) AT AIHTHAT YT SSchie STHERATT oo,
@) IT ISHId T FSHFAT 319 20T,
@) TN TN MU g AT,

A qaT e

(1) 3, ¥, % W& 2) 3, § R
OEERER 4) & R
Which of the following are the functions of the Pro tem Speaker?
(a) To preside over the first sitting of the new Lok Sabha session.
(b) Administer oath to new members at this session.

(c) Conduct election of new Speaker.

Select the correct statement.

(1) a, b, ¢ correct (2) a, b correct

(3) b correct (4) ¢ correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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29. AT [RVTIeREEs @eie Fuae Sere @,
(37) THR[E ATAT HIHBISTIRIA JTE<Ic HTHIHAT IR hes 2Tehd.
(@) THNEIST TEIEIT AT 31Ch, IIEEdl, TIRTIRIG], a0 el a5
T qifgdl I HogTET AR 3R,
(@) TAN[E WAAT BTG T HIFDSTAT ATERME HIAT RISl MIH TaR He
ZTehal.
A g H9er.
(1) 3, ¥, % W (2) 3T, F T
(3) 3, T IR @) ¥, F TR

Consider the following statements about collective privilege.

(a) The House may exclude outsiders from its functions.

(b) The House has the right to receive information about the arrest, preventive detention,
conviction, imprisonment and release of a member.

(c) The House may make rules to regulate its procedure and conduct of business.

Select the correct option.

(1) a, b, ¢ correct (2) a, ¢ correct

(3) a, b correct (4) b, c correct

30. oA AHTEES TS SO [I=RTT .
(37) T ASHHSAT 3 T 8 ST,
@) IT IHIAEE Hh hiadc AT FHEET T4l

@) HECaIG HETR FUT FROMR o Th AgSITH S JTIT TR,
AT T [Hger.

(1) ¥, & SRR 2) 3, & W
(3) F TR @) 37, ¥, F R

Consider the following statements about Cabinet committees.

(a) They have 3 to 8 members.

(b) These committees consist of Cabinet Ministers only.

(c) It is an organizational tool to reduce the burden on the Cabinet.
Select the correct option.

(1) b, c correct (2) a, ¢ correct

(3) b correct (4) a, b, ¢ correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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31, IRY STTSRAT SfeadT.

fa=or HAH
COEURERERIEREER () 116
CREIREINAEPEED (i) 112
() SR (iif) 114
BERIECEEICIR=tE:) (iv) 110
¥ I & S
M) i il iv i
@ i i i v

(3) iv i i i
@ i i i v

Match the following Pairs.

Subject/ Matter Article
(a) Annual financial statement (i 116
(b) Appropriation bill (i) 112
(c) Vote on account (iii) 114
(d) Defination of 'money bill' (iv) 110
a b C d
1 i i iv i
(2) i iii i iv

(3) iv i i i

@ i i il v

32. %‘R‘l&(‘l Iratllic&ll STV g’ﬂiﬁldd IR qqclq IrE|O|SI.
(37) 3T Wi 3% 10 fRawia ardt srmard.
@) FHST ThT Sa1d 20 dRiTehd T9T Higs SIdTd.
(@) THTET FTSEEAT 100 YT ST Tl

T 3T
(1) ®h A, T R (2) th I RIS
(3) Th &, F TR (4) I TR

Choose correct option regarding questions asked in parliament.

(a) Short notice questions should be answered in 10 days.

(b) 20 starred questions are placed in parliament in one day.

(c) Size of question should not exceed 100 words.

Answer Options :

(1) Only a, b correct (2) Only a correct
(3) Only b, ¢ correct (4) all correct

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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33. I UER ol AheudThdl I& AT

(1) 1954 (2) 1962
(3) 1964 (4) 1935
When was the Zero hour concept started?

(1) 1954 (2) 1962
(3) 1964 (4) 1935

34, IPg U/ AU e
(37) ARIfRA Teri=r I AIFIRIT dier 3T JdTd.
@) AARIhd TN TR QT ST ST,

(@) THTRTT ARSI U AiEHees 30T W3m-TaR [Fa=or 3aq.

I 3N
O] (2) 9, %
(3) 7, & (4) TSTHT T

Identify correct statement/s.

(a) Starred questions can be answered orally in house.

(b) Written answers are given to Unstarred questions.

(c) Through question hour, Parliament keeps control on Council of Ministers &Administration.
Answer Options :

(1) a, b (2) b, c

3) a, c (4) all of the above

35.  WloHTAUDT g [ 3TTesar.

(1) TRUTTHS HUTd AT BUTST ANTONET T&H 100 ST HHI HI0ATT JTal.
(2) FHIEHAT HYTT YT TITST ARTONHE SATdh HUTT HI0T.

(3) BIETTOTh HUTd YRATT TBUTST AT XeBH 1 S9IT HAT Hhugrd ITar.
(4) W I [TU T 3.

Identify the correct statement from the following.

(1) Policy cut motion states that amount of demand be reduced by Rs. 100.
(2) Economy cut motion states that the amount of demand be reduced by specified amount.
(3) Token cut motion states that the amount of demand be reduced by 1 Rupee.

(4) All of the above statements are correct.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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36, HFIUT TRATAIGHIAIG T faT 3iiesaT.

(37) ATASTAT ATESIeh AZETAT [AaThe THNER &8 TSl O dad Alge Siid.
@) I FRATT 1 TQSRT 3PTIeR AT ]0T AT 3T

(@) IRATT & 1954 IRIT ARAaTd 3TE.

() HIHHIST UTohd=AT FEHTT I e 38 AT dl SeTadl Ja-iT 3y 3Te.
T 39N

() A, 9, h, & 2) A, ¥, &

3) T, H, T 4) 31,9,

Identify the correct statements regarding calling attention motion.

(a) It is introduced in the parliament to draw attention of the house to a definite matter
of urgent public importance.

(b) It must be notified at least 1 day in advance.

(¢) In India, it has been in existence since 1954.

(d) Unlike the zero hour, it is mentioned in the rules of procedure.

Answer Options :

(1) a, b, c, d (2) a, b, ¢

(3) b, c, d (4) a, b, d

37.  gh I stiesa.
(1) TIYTT SRNT WIHROITT HROT FPTOAT= IRST T,
(2) U7 AFgaTAT TORTITT 9T YT STOTST T3, 3Rl
(3) T vRaTT ATeTaTSr IHRRRT WA e 3.
(4) T URATE AR ST AHSHM TSTHHT JUaTdT IRST AATal.

Identify the incorrect statement.

(1) There is no need to state the reasons for adopting a no-confidence motion.
(2) A no-confidence motion can be moved against the entire cabinet.

(3) Permission of house is required to table a motion of censure.

(4) There is no need for the cabinet to resign if the censure motion is approved.

38. RATSAT RHGAT MU aRgard TR JelGATT Ted:
(1) esrflru dicucl AR VAT WﬁUﬁWﬂ?ﬁW
(2) QSith‘I H01<| quH‘“CH ﬁﬁ"léd)lcél T l‘HSUI
(3) FERRUTRIS RATUHgSE FEa9T HHET .
(4) HAHSTAR AT HXOATATS! JARET TS TS He0l.
The provision for the Contingency Fund of India results in:
(1) Absolving the executive from preparing the estimates of the expenditure

(2) Compelling the legislature to approve the expenditure
(3) Reducing the legislative control over the executive
(4) Providing a safety-valve to tide over a crisis

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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39. Wols [quEr AR a1
(37) TETAT 9 ey, SR o ARIETAT Ter [eered o yaifod ey 3o o,
=ATHATT I g 3URIT HRUIRT b el
() TETT [TIahIaT THRIETAT STSIeTiHT axf THIOTd heh 3T¥Teh A<l o (e Rudogr=A
TR T UM HRUGTET ATIRR ARATAT AT 3TE.

TR ey Hord /AU s=ReR eda?
(1) h 37 (2) Bh ¥
(3) 31 3nfor & ST (4) TSUhT Tehel ATer

Consider the following statements:

(a) The nature of a Bill, if it is certified by the Speaker of the House of People as a Money
Bill, is not open to question in a Court of Law.

(b) The President of India has the power to question the nature of a Bill to be taken as a
Money Bill even if it is certified to be so by the Speaker of the House of People.

Which of the statement(s) given above is/are correct?

(1) Only a (2) Only b

(3) Both a and b (4) None of the above

40.  THET fyar st
(37) TRT FIHR HIEST 1919 FDId SlhoET JHATT IITIAT HIvgqTd !
@) Flh@r FAAT haes ShTHT AaHTaaT .
() BIhcSET AHATAT ST AT Soo! TEIIT FEUTAT.
(@) IR AT 3Tered & =Tt qeirdies st

T 3N
(1) ®ch 3T, ¥ (2) Fh H,
(3) ®ch & 4) FH T, T

Identify incorrect statements.

(a) Public Accounts committee was setup under Government of India Act 1919.

(b) Public Accounts Committee represents only Lok Sabha.

(c) Public Accounts Committee is called as twin sister of estimates committee.

(d) As a part of convention, chairman of committee is selected invariably from the opposition.
Answer Options :

(1) Only a, b (2) Only d, ¢

(3) Only b (4) Only b, d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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41, IIET HAEES WSS [T f9=R & anfor ang foume/ oy s,
(31) 2005 ATST UleedT T HATAT LTIAT h0AqTd 31THT.
@) SHFIASAT T AT F TR [ATTF THST 7 ST BrhdAu el g A9 Hdie
Yefeg 38T ST,
@) BIHTHT IUTHT § SIhaAT NOT FAESiash AR Ao H9ie 38T 3_AdTd.
EEIRIIELES
(1) T 3mfor 9 (2) Bh &
(3) Bh & (4) TFURT T

Consider the following statements about Parliamentary forum and identify the correct

statement/s.

(a) The First Parliamentary Forum was constituted in the year 2005.

(b) Except the Parliamentary forum on Population and Public Health, the speaker of Lok
Sabha is the ex officio chairman of all the forums.

(c) The deputy speaker of Lok Sabha is the chairman of the forums on Population and
Public Health.

Answer Options :

(1) aand b (2) Only b

(3) Only c (4) All of the above

42.  Hieve IRAEYET 99T fTuae/faae e,
(37) Hia-c THAT B geATHS T=T 3MTe.
@) T AT TATIHGRT IS hedT ST,
(@) TSThT FTER AHATHT JUR his-e Tl FoTdTd.

T 3N
(1) %<h 3T (2) ¥ 30T &
(3)ATH (4) TWF I

Identify correct statement/s about Cabinet Committees.

(a) Cabinet Committee is a constitutional body.

(b) These committees are set up by the Prime Minister.

(c) The committee on political affairs is also called as Super Cabinet.
Answer Options :

(1) Only a (2) b and ¢

(3) a and c (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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43,  HESIh STHHERIS SHeT AEAEeHd ol [uMET [9urR .
(37 S g1 AT RreRsiasT 1964 7 8 AfAdr Wifud HRodrd STl

@) AT AT THOT 30 TG 3.

@) 1 AT e MidareueT SRy eI 3.

TR [T/ 3.

(1) %eh 3T (2) Hh 3 AfoT §

(3) Fh & (4) TISIHT Thel ATar

Consider the following statements regarding the Parliamentary Committee on Public
Undertakings.

(@) This committee was formed in 1964 on the recommendation of the John Mathai
Committee.

(b) A total of 30 members are in this committee.

(¢) The Chairman of this Committee is unquestionably from the ruling party.

Identify correct statement.

(1) Only a (2) Only a and b

(3) Only c (4) None of the above

44, WHHUS! YRATAIS &A= Hard Aol SEST FHal ShivTdl 3Te?
(1) BrhEr AT RERINIEHRRSIRIRSIE Gl
OESSRIEL @) TSR JfEdr
Which of the following is the largest (by number) Parliamentary Committee in India?
(1) Public Accounts Committee
(2) Departmentally Related Standing Committee
(3) Estimates Committee

(4) Privileges Committee

45. WIHIGURI HIOTAT HAGT AHATET AT & TeHa FATaRT TeTT=aT A 4Ie I-Iar?
(1) 3TSTsT AT (2) AT IUHT FHAT
(3) Bl AT (4) TATNSTT HRCTITTH AHAT

The Chairman of which of the following parliamentary committees is invariably from the

members of the ruling Party?
(1) Estimates Committee (2) Committee on Public Undertakings

(3) Public Accounts Committee (4) Committee on Delegated Legislation

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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46. WTSIGUHRT HIVTAT Hdes B IAREET AT TR?

(1) 3T |AfEdT
(3) ISR 3Tk FTHdT

D ERIRIECEEIREEERERIERI)

(4) JiersT |fEdr

Which of the following is exclusively a committee of the Lower House?

(1) Committee on Assurances

(3) Committee on Public Undertakings

(2) Committee on Delegated Legislation

(4) Estimates Committee

47.  HIOTAT ISATT ST STHTAIATST BIhTHd G T ST AR ?

(37) I T3
COREIE]

(1) &, &, F
(3) A, H,

(@) Ao
(@) dSIOT
Q) F S
@) I, T, T

Which state does not have reserved seats for Scheduled Tribes in Lok Sabha?

(a) Uttar Pradesh

(b) Tamil Nadu

(c) Punjab (d) Telangana
(1) a, b, ¢ (2) b, c, d
(3)ac d (4) a, b, d

48.  ARY STredT M.
(37) ARIThd TST - ST FEH 36
EIELIRIETRE] — FhaET [T 54
(@) ALY I - BT HIH 198
AT 3N
OEA RS
(3) 3, & (4) TASURT TG

Identify the correct pairs.
(a) Starred Questions

(b) Unstarred Questions
(c) No-confidence motion
Answer Options :

(1) a, b

3) a, ¢

— Lok Sabha Rule 36
— Lok Sabha Rule 54
- Lok Sabha Rule 198

(2) b, c
(4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK
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o o R o e o LN
49. QlolaYehl ShOTAT HTIATGR HRATHT AT HIFHSATAT hIHDISTIX AT [HIATT 3dd?

(30) W I (&) TR O
@) ™ar g (®) IRIOT a9
JITET 3TN

(1) 37 STOT (2) ¥ oT &

(3) 7, 9, F (4) TSTHT T

Through which of the following devices the parliament of India exercises its control over
the functions of the council of ministers?

(a) Adjournment Motion (b) Question hour

(c) Censure Motion (d) Supplementary Questions

Answer Options :

(1) aand b (2) b and ¢

(3) a, b, ¢ (4) All of the above

50. AN faur st
(37) 3TTST AR THUT 30 TS AT AT HAT AT AHATT G 3T 2Tehd ATerd.

oS o

@) 3Tl AHAE T B OIS APAAHT THCAHT G hosedT HElh@TIRIgTHh=AT aIvh
SETIRTEAOT ATl quTofT ol
@) IT AHAIST Fad [Hdeagdr |afEdr T BoTdrd.

T 39T
(1) ®eh 3T, ¥ (2) Bh 9, &F
(3) Bh 3, (4) 99 TR

Identify correct statements.

(@) The estimates committees has a total of 30 members and the minister cannot be a
member of the committee.

(b) The main function of the estimates committees is to examine the annual audit reports
of the Auditor General, submitted to Parliament by the President.

(c) This committee is called continuous economy committee.

Answer Options :

(1) Only a, b (2) Only b, ¢

(3) Only a, ¢ (4) All are correct
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